j 0 @ % g trés fragoes, ordem das operagdes

Nome: Encontro: Data: Pontuagao:
7;7_’_2_ 3+2><1—
3 4 3 6
| 2
——6+6= —+35=+7=
3 3
8+2—l: %xl—l:
3 3 6 3
1 I 1 1
+11—-== X =t ==
8 6 2766
3 3 3 3
—_— — —_ = _+ - =
2 172 7 730
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j 0 @ % g trés fragoes, ordem das operagdes

Nome: Encontro: Data: Pontuagao:
2 5 2 3 2 1 31
T+T7+=-==-=1= -+ =X ===
3 3 3 4 3 6 36
| 2 2 17 2
——6+-6=(— Z435+7=__ =52
3 6+6 (3) 3 35+7 3 53
I 11 2 2 1 1 2
+)—_=_=3C Tx 2 —-Z=(=Z
8727373773 36 3 9
47 5 I 1 1 1
+1l-==—=7- — X =+ —= —
58 6 6 2°6 6 4
3 3 3 3 3 19 3
2 17273 g 0TV Y
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